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QUESTION 1

Which of the following statements about the Reverse Path Forwarding (RPF) mechanism are true? (Choose two.) 

A. Multicast RPF does not depend on unicast routing. 

B. All multicast protocols adopt the RPF mechanism. 

C. A router discards the received multicast packets if the packets fail the RPF check. 

D. The RPF mechanism has two functions: 1. It prevents multicast routing loops; 2. It avoids forwarding redundant
multicast data packets. 

Correct Answer: CD 

 

QUESTION 2

A DHCP server allocates IP addresses to clients. Which of the following steps are required when configuring a DHCP
server? (Choose three.) 

A. Enable DHCP globally. 

B. Configure the DHCP Option 82 field. 

C. Configure the global address pool if the DHCP server based on the global address pool is used. 

D. Configure the interface address pool if the DHCP server based on the interface address pool is used. 

Correct Answer: ACD 

 

QUESTION 3

If only some devices on a network run MPLS (MPLS domain is encapsulated in the IP packet header), 

labels are generated only for direct routes of devices running MPLS. 

Labels are not generated for the routes originated from other devices running IP protocols. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

BGP is an interdomain routing protocol. Which of the following statements regarding BGP are true? (Choose two.) 

A. BGP uses a reliable transport protocol. 
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B. BGP supports automatic neighbor discovery. 

C. BGP supports plaintext authentication. 

D. BGP supports rich routing policies. 

Correct Answer: AD 

 

QUESTION 5

STP elects ( ) 

A. One bridge as the Root Bridge and another one as the Backup Root Bridge 

B. One bridge as the Root Bridge 

C. Two bridges as the Root Bridge 

D. One Designated Bridge 

Correct Answer: B 
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